Review Station 1

. A set of data has a mean of 78 and a standard deviation of 9. What is the.zscore for a

value of 557 X &— 7&
L3 o - 2.56

. If a set or normally distributed data with a mean of 85 and a standard deviation of 10.6.
What values are 2 standard deviations from the mean?

63-9 -and 0p.)

. An 8 0z, container of blue berries has a mean of 93 berries and a standard deviation 0f 4
berries. What percent of containers have 85 to 101 berries? q 5 ,/

. The scores on a test have a mean of 79 and a standard deviation of 6. What percent of

scores greater than 917 T >
J ’z . 5 / .

6+ 13 1q

. A basketball a probability o 5}10 for 2 point shots, 4/10 for 3 point shots, and 8/10 for

free throws. What is his expected value for the next game? ‘3 .
(1)) + (410)(3) + (*J0)4 2]



Review Station 2

6. What is the sample size needed to obtain a margin of error of & 3.5%7?

035 = ot

What is the margin of error for a sample size of 14007

m« 0267 izgé‘?‘l,

8. A data set has a mean of 51 and standard deviation of 5. What value would have a z-

score of 3.19? X—gs s 3’5% > x o é@é*@g

9. What sample size is needed to obtain margin of error of + 4.3%?

Eos) 7m0l

10. The owner of a hair salon wants to determine how clients rate the customer service of
his staff. To do this he leaves a stack of response cards at the reception desk. What type
of sampling does this represent?

voluntovy  respovise

o
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11. What is the probability of scoring above 1500 on an SAT with a mean of 1400 and a
standard deviation of 150 given the results are normally distributed.

nor malc df (1500, 1649, 1400 159) =.3%3> 2521

12. The average height of women is 5’ 5” with a standard deviation of 2.5 inches. 80% of
women are above what height?

JI/%DM“‘”’W"‘(- %05,2.5) = (02.4n)

ol
g 3 -{
13. Using the data from problem 12, what is height of the 60" percentile for women?

14. A group of students is interested in knowing if the number of times they can
sink a basketball is related to the color of the basketball. The students shoot a
series of baskets and record their success using a regulation colored

basketball. They then switch to a blue colored basketball and shoot the same
series of baskets. What type of study is this?

Expeviental

15. A group of students is interested in knowing if there is a correlation between
attending an SAT Prep class and scores achieved on the SAT Examination. The
students use a survey to collect their data from both students who took an
SAT Prep class and those that did not take an SAT Prep class. What type of

study is this? O b Se rvqﬁ OV\
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16. A local talk radio show asked listeners to call in to express their opinion on whether or

not Global warming is a result of human activity or just part of a natural cycle. What

type of sample is this? \IO‘UV\mm %&? OﬂS“e

survey of 1000 US adults found that 9% exercise more than 3 hours per week. What
terval is likely for the population of the US?

oA+ =

.00+ . p33a=

18. If your sample size is 800 and you wish to cut your margin of error in half, what will be

your new sample size?
19. What sample size is needed to have a margin of error of + 2.8%? ( ‘ ) 3\

}a} (0 0Z2%

20. A university polled 500 students randomly selecting them proportional to the number of
students enrolled in each degree program. What type of sampling is this?

crratribied
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w7

21. An easily accessible sample is chosen. What type of sample is this?

LONNVENI e L

22. A survey question asks, do you prefer news or mindless sitcoms? Is this question biased?

If so what kind of biaTs is it? Q\’e &hm w 010,\ (g
GAS

23. Suppose the officer grabs a random sample but only does so of the freshman students. e

What type of bias does this study suffer from? \} i e ( (/ Wt

24. The fee for a card game is $1. The game plays as follows; a card is drawn from a deck of
52 cards. If a red face card is drawn then $5.00 is won. If a black card under 7 @, 3, 4, 5,
6) is drawn then $3.00 is won. Any other draw wins nothing. What 1S the expected value

of this game? b
—S%Xq N %Y\ﬂ ¥ (% X" )
2 19
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25. The fee for a card game is $1. The game plays as follows; a card is drawn from a deck of
cards. If an even spade is drawn (2, 4, 6, 8, 10) $5.00 is won. If the ace of hearts is drawn
then $20.00 is won. Any other draw wins nothing. What is the expected value of this

game? l 3
' 4

/(In a population of scores a raw score with the value of 83 corresponds to a Z of +1.00 and
a raw score of 86 corresponds to a Z of +2.00. What is the mean and standard deviation
of this population?

27. On a statistics exam, you have a score of 73. If the mean of the exam is 65 would you
prefer the standard deviation of the scores to be 8 or 16?7 Why?

28. A survey is conducted to determine if more funds should be spent on athletic programs or
on the school theater program. Students attending the basketball game are surveyed.

What type of bias could occur in this study? il .
und evtove veAe-

29. The critical reading part of the SAT has a mean of 496 and a standard deviation of 114.
The math part of the SAT has a mean of 514 and a standard deviation of 117. If a student
scored 615 on the readi&g part and 619 on the math part. Which part of the test did the

studentdobetter? K 2 | . OU} ﬁ—m o h@
Mm .90 7
30. If a Math 3 Honors test has a mean of 83% and a Standard deviation of 6%, What score
do you need to be in the 90" percentile. . q

vnwvnot M9, 33,@)



